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SECTION A

Choose the correct answer from the options.

Identify the number from the following abacus:
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a) 1524
b) 2451
c) 4251

Which of the following is the smallest 4-digit number?

a) 1001
b) 1111
c) 1000

The place value of 7in 2704 is:
a) 7

b) 700

c) 7000

4 The face value of 0 in 9107 is:
a) 7
b) 1
c) 0

5 The successor of 6423 is:
a) 6421
b) 6424
c) 6420

+ 6217

6 6217 + 3958 =
a) 3958

b) 6217

c) O

7 0+ 975 =
a) o0

b) 975
c) 9750




8 7551 + 2459 + 3128 = + 3128 + 7551
a) 7551
b) 2459
c) 3128

9 The smallest 4-digit number formed by the digits 4, 7, 1 and 3 is:
a) 1347
b) 7431
c) 1437

10 100 more than 5617 is:
a) 5700
b) 5627
c) 5717

SECTION B

11 | Write the numbers in ascending (increasing)order:
8001, 8912, 8734, 8091, 8432

12 | Write the numbers in descending (decreasing)order:
1208, 3689, 2475, 3567, 1294

13 | Write in the expanded form.

3419 = s o o F o
14 | Add
i B 5
+ 8 0 8
15 | Add
3 & 4 2

16 | Add

SECTION C

17 Write the number and the number name.

2 thousand + 9 hundreds + 2 tens + 5 ones =

18 There are 1345 students in school A and 2456 students in school

B. Find the total number of students in the two schools.
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